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Oct 2013 Exam solutions

uestion 1.

Distingulsh belween financial Investment and real investmenl (2)

m

Financial investmenit is investment in shares and other financial instruments
with the hope of earning a return normally related to the interest rate.
whereaqs real investiment is spending on additions to the copital stock
(machinery. buildings , inventories etc).

Question 2

Briefly describe the Impact an Increase In the intersst rate has on the demand

e e ety —

for money curve. (Z)

AR incredse 10 1he interest rate will cause a decrease in the demand for

money. This is reflected by on upward movement along the demand for
money curve.

\

Question 3

(v
. _ o | (rt/m
Briefly expldin why the muliipiier is smaller for an open economy than g B A
closed economy. (2)

Mulliplier is made up of the mpe (marginal propensity to consume) and the

(tax rate) in o closed economy. In an open economy the multiplier is made

up of the rmpe. tand the mpl (marginal propensity to import) . Note that

imporis is a withdrawal in the circular flow model, therefore any money that is
spent on Imparts, leaves the economy and thus will not be multiplied by the
multiplier. Thus the effect of the multiplier is smaller in an open aconormy than

in a closed economy D

]
yeo s
Queshion 4 & O; ?* ?

Name two factors that will cause a decrease in the real exchange féate. (2)

e real Bxahange raie wil decrecse when.
« Foreign prices increase (assuming the domestic prices and nominal
exchange rate remaln constant)
+ Domestic prces decrease{assuming foreign P{ces and the nominal
exchange rate remain constant)

SQuestion 5

Usa the lollowing goods market model to explain how govemmeni spending
can be used to ensure full smployment. Comment on the size of govemment
spending needed to reach full employment. (4)
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Question §

Use the financial market model to axplain what happens to the interest raie if
income Increases and the money supply decreases. {6)
Me J 1 /‘

" Ms

/ﬁnterest rate

100

0

i. Explanations and calculalions (5)

This can be done by an expansionary fiscal palicy. This means that
government spending must increase.

We need 1o calculate the muliiplier 1
1

. o= — note that the mpec =3/4 or0.75
1-mpc

- x——l— = 4 L/

T 1-07s

#

guantity of money

) Then we must calculate omount government spending must increase by:

& autononous spending = %(Y f-Ye) According fo the diagram.

«  Aaqutononous spending = ﬂ"’%‘“ﬂ =?.\ 50 \/ = Anincrease in income will lead to an increase in the demand for
money and subsequently leading to an increase in the level of interest
rates.(fromitoi’)

From the obove calculation we can deduce that {This is reflected by an upward (rightward) shift of Md to Md” and a

. movement dong the MS curve)
Toking us to point (1)
« The decrease in Money supply will reduce the purchasing power (real

« If government spending were o increase by 50, through the multiplier
(4) effect, will lead to an increase in the aggregote demand for goods
and services and eveniually the level of output {produchon, income

_ ; monsey supply) and inevitably increasing the level of interest rates
and spending) by (50 x 4 = 200). [ (further from ' to 1"
e e _J[ (This is reflected by a leftward shift of the money supply from M3 to
ii. Name one other Ascal policy instrument to ensure full employment. MS7)
Indicale the direction of change. (1) = [t must be noted that real money supply will also decrease.

Another fiscal policy instrument that could yeld similar results would be.
A reduchon in tax rate. This will be indicated by a w the zz curve

upwards e Overall effect on the interest rate

+ The interest rate level will increase twice.

[P
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Question 7 /

71 Identity the taclors thot impact on the iargeted nominal wage in the
wage seiting relationship. Clearly indicate the relationship between the

factors and the fargeted nominal wage. ()

These factors influence the bargaining position of workers and therefore the
targeted nominal wage demands:

+ (+) Expected price level (P¥) - if workers expeci price of goods they
~ouy To double, hey will osk Tor a doubling of their nominal wage fo
protact their purchasing power.

« () Unsmploymeni raie (U) - higher unemployment rate lowers workers
bargaining power (now ecsily replaced), fercing them to accept a
lower wage

¢ (4 Institutional factors {2):

o unemployment insurance or benefits to workers who lose their
jobs (af a given unemployment rate, higher unemployment
benefits increase the wages)

3, o minimum wages (an increase in minimum wages wil increase
nominal wages at a given unemploymaeant raie)

)( o labour laws and regulations mat protect employmeni (more
protection will increase the bargaining position of workers and
there will be a rise in wages at o given unemployment rate)

X o collective bargaining

7.2 Briefly explain why it is not possible for labour to increase the pice  ~ (m
determined real wage through nominal wage bargaining. (3)

The wage-setting relationship does not tell us what the actual real woge will

be. Workers can try to achieve a desired or targeted real wage by ( \ 3(

bargaining for a norminal wage. but whether ihe desired or targeted real
wage is achieved will depend on what hoppens 1o the price level.

And the price level is determined by the mark-up used by firms, F 1 ¥

This Implies that whaiever ihe levei of nominal wages, the price of the
products produced will always be a certain percentoge (os determined by
the rmark-up) higher than the wages paid to workers,

The implicaiion of this particular mmodel of the labour market is that there are
only two ways in which labour can obtain o higher real wage:

= If firrns decrease their mark-up. This causes o lower price level, and
for g grven nomindal wage, a higher real wage. This is referred to as the
battle for the mark-ups.
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« If productivity increases If more goods are produced per unit of
labour then more goods are available (o be dwided between firms

and labour.
7.3 Identify three faclors that wlll increase the natural rate of
unemployment. (3]

v

2 e

[ &\ increase in unemployment benefits
y » lincrease in minimum wages

e / Labour lows and relatons to protect employment
Increase in the firms mark-up

i

un wy WUy

SECTION B: Choice guestions (30 marks)
Question 1(15 mark

a. Explain and lllusirate by using twe different diagrams the impact of an
expansionary fiscal policy In:

alts
\k

i. The goods market model. (3)

aggregate demend

Y‘ Yll

OUTPUT, P
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ii The 18-LM model. (4)

‘S‘mk\o’&‘(’r\ _

Interest rate

IS"

=

Y Yl L]
output, production,:

iil. Compare the resulls in (i) and (i) above. (2)
e Dicgram i shows Us Gotnitias in The goods marke! An expansionary
fiscal policy will create the ZZ curve to shift upwards (zz to zz°").
" Diagram iy shows Us an 15/LM model. The above-mentioned poicy will
shift the IS curve upwards (8 to 18" Yand creofe an upwaord movement
along the LM curve as well as causing an increase in the interast rate. '|

b. Lisl three nominal and lhres real varables in the AS-AD model. (3}

Nominal Variable Variable
Price level (P) Employment
Nomingl Wages (W) Qutput (¥

Nomingl _money supply (M9 Regl money supply (M/P)

Interest rate ()

Investmenti spending {

Demand for goods (Z)

Real wage (W/P)

¢. Briefly explain the meaning of the concept “neulrality of money”. (3) ?

Neutrality of money means that monetary policy (money) is neufral in the
medlum/ long run. The notion behind this is that the real variables remain B
unchanged {ncrease and decrease - retum fo their original values) ond that P
it is only the nominal values that change. Therefore expansionary monetary P;fx’/““

policy only Influences nominal variables (they are higher).

ECS 2602
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P -

Nominal vanables

¢« Prices
« Wages

Real variacles

» Output (production, income and spending)
+  Employment

« Redimoney supply (M/P)

» Inferest rate (i)

= Investrment spending ()

« Demand for goods (@)

»  Realwage (W/P)

Question 2 {15 marks)

a. During the recesslon in 2009 the level of output and income declined in the
South African economy.

Fiscal \?C\%T
Mmd,ms \\'\5? 1,&

i. Use the |5-LM model to explaln how slabilisation policies were used
during the recession fo increase the level of outpul and income. (6)
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b. Use the IS-LM model for an open economy i explain the possible impact

(Onfvppg ¥ 10w

of a decrease in govemment spending on the.... (%)
using a chain of events to explain this concept fikﬁ-——_
Gl-2] -@ C| - 1} - this occurs in the goods market /

Y| - Md| - i] - this occurs in the financial morket

i} - E] - X7 - NX1 - impact on the exchange rate and trade balance

vy l‘g(al

i) interest rate

The level of interest will decreose because the reduction in
output will couse o decrease in the demand for money and

subsequently interest rates.
il the level of outpul and Income,

A decrease in government spending will cause a decrease in
the aggregate demand for goods, of which (ihrough the
multiplier effect) will lead to o decrease in the level of output

and income.
iii) the financlal account of the balance of payments,

Reference to the Investment reiation must be made here.

ie. 1=fQ0Y).

o reductionin output will lead fo a reduciion in investment

spending (positive relation) - (Y] - 1])

o ihe decrease in interest rates will however lead 1o an

increase in investment (negative relation) .

o therefore the overall effect on Investmeni spending is
uncertain as we do not know which effect dominates.

iv) the exchange rate and

The decrease in the Interest rates will lead to a depreciation of

exchange rate (nterest parity condition)
v) the trade balance.

The trade balance is most likely fo improve, given the above-
mentioned interest parity condition and the “Marshal-Lerner

condition)
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Question 3 (15 marks)

wb o]

a. Use the AS-AD model o explain the impact of a contractionary
monetary policy on the level of invesiment in the medium to long run.

6}

® » Financial markels

Impact of a contractionary monelary
poﬁcy = ———————9

-4

a

L1 Y.

Ms | - Ms/P| - interest rate 1

A confractionary monetary policy will lead to an increase in ihe level of
interest rates, because of ihe reduction in the nominal and real money

supply.

BCS 2602
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+« Goods market

Interesi rates 1 - investiment | -Z | - Y]

The increase in the interest rates wil lead 1o o decreqse in investments

through the mulliplier effect this will lead to o greater decrease in

@ aggregate dermand for goods and uliimately i output.

e

+ Labour market
Y | - employment N | - unemployment u | - wages | - prices |

« Expectations
Pe (expected prices) |- We wage expectations | - P (actual prices)|

« Financiol market
P | - Ms/PT - interest rates |

* Goods markst
Investments t - aggregale demand t - ouiput 1

From the above chain of evenis one con deduce that intially a

contracticnary monetary policy lead fo o decrease in level of the prevailing
interest rates. this will lead to a decreqse In Investment spending in the short

run,

In the long ferm, expectations come into play and through succeassive chain
of events this leads to an increase in the level of interest rates, subsequently

inducing investments to Increase in the long run.

This phencmenon lends its salf to the neulality of money concept. In essence

; investment spending remains the same or (ndeterminoie)

—
b. Use the I5-LM model tor an open economy lo explain the impact of
contractionary monetary policy on the financial market, the goods
markef, the financial accounl of he balance of payments, e
exchange rate and the kade balance. (%)
ECS 2602
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Ml = ET: appreciation

Financial markets

Ms | - Ms/P| - intetest rate 1

A contractionary monetary policy will lead to an increase in the
level of interest rates, because of the reduction in the nominal and
real money supply.

Goods market

Interest rates T - investment | -Z | - Y]

The increase in the inferest rates will lead to a decrease in
investments . Through the multiplier effect this will lead to a greater
decreose in aggregate demand far goods and ulfirmately in
oufput.

Financial accounl of the balance ol payment

Gven iné reduction in invesiments, the financial _OEE:ounT Is most
likely to decrease.

Exchange rate

Interest rates hikes will lead to an appreciation of the nominal
exchange rate, ihis can be explained by the Interest parity
condition (positive relalion between the inferest rates and

exchange rales)

Trade balance

ECS 2602
Exam Course

Given the appreciation of the exchange rale and the Marshal
Lerner condition, the trade bolance will deteriorate or worsen.
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Secftion C: MCQ

1 Which of the folowing slalements are correcl? -

a The GDP 1s the 1otal value of all final and inlermediate goods and senices produced within
Ihe boundaenas of a ceunlry duning a parhicular perod 3
@ Kommal GDP 15 valued al current pnces while real GP 19 valued al prices in a base year
[ Given a population growth rale of 2 5% per anrum n Soulh Afnca, a real ecanotmie grnw% S'\ °
rale of betwaen 2% and 2 5% 13 needed for the real GDP per capda lo increase y 1 \
A considerable rise (n meat prces can be considerad as inflalion ¥
é The so-called ‘jobless growth' refers to a silualon where employmeni declines aven
dunng penoas of posilive ecoramic grawth l/

1 abandc
2 B.e,dande

Driyb, cand a
Orlyband e
a.tcande

2 Which of the lollowing wall shift the demand curve upwards i the goods markel 1o indicale an
-NCreasa in aulonomous spending”

a Anncraase in laxahonu
o Adecresse In taxalon
An increase 1n the marginal propensdy to consuma*
@ An incraase in aulonomous invesiment
1 a candd
E. candd
@ Crlyd
Ontyc

5 Onybandd

marginal propensiy lo consuma 1s 0 76 (V) Study the dragram ard answer the following question
z - oo

: : Oll"':- L’Ll (IS f
GPytoxe > loo0
TV

%‘ Question 3 refers ta the foillowing diagram which represents the balanced budget mulbplier The o - L' f

- [200

s
sasy : -
0 490 2000 l./m

3 The net effect of the bucget balancad on Ine level of culput ard income 13

1 equal to 0 (zero}
an increasa of 1 600
@ an increase of 400
an increase of 100
5 a decraase of 100

£C52602

xna

), gAY (QCO) xq

Fy
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Questor 4 13 based on |he fo lowing infomanon .

120 DP#IG{I’ - 30 :

Govemmenl spending =

Taxalion = 80 - =0
Exporis = 250 T vaedd = 5
Imports = 300 0
Tl =T/, pmeince L
Capdal outllows = 30

4 Whith ons of the following statemenls 1s comect?

1 The budget surplus 1s 30. Ihe lrade surpius 18 50 and the balance on the linancral account
18 - 40

2 The budget defict 5 30. the Lrade dehci rs 50 and the batance on the hinancal account s
40

3 The budgal deficat 18 50 the trade deficil 13 30 and the balance on Ihe financial accounl 1S
40

@ The budgel defieil 1s 30 Ihe Irade defied 18 50 and (he balance on the financial account 1§
a0 v

Quesbon 5 15 basad on the fallowng diagram

"] 3

5 Which of the following slalements m/are correct?

@ If the mlaresi rale 18 wgher Ihan 1y then an excess supply nl’\rynay exists and Ninancial
market partcipants wall buy bonds 1o move back o egrilibrum
b If the inlerest rate 18 righet Ihan 1, lhen an excess demand for money axists and financial
market paricipants will sell bonds (o move back 1o equilior uon R
® If (he central bank wishes 1o decrease the inferest rate in the sconomy it should buy bonds
on (he opan markel and tha M* curve shifis 1o Lhe nght
d If Lhe cenlral kank wishes 1o decrease ine inlerest rale in the economy i should sell bonds.
on the open markel and the M* curve shifis 1o the nght )(

@ aandc

2 aandd

3  bandc

4 bandd

5 Only a
ECS 2602 .
Exam Course - F Y
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6 Which of Lhe lallowing can be regarded as endogencus vaniables in the 1S-LM model?

3 Nominal money supply ¥ \/
Level of autput and income
Consumption spending

d Government spanding 7(

a bandc
Cnlybandc
a,candd

4 Only c and d
5 Only b

Queslicn 7 15 based on the loliowing diagram

( Gy\had 1 Uhug G* T

Flscal

7 Whigh of the following lactors will cause a shdt from (S Lo 15,7

A decrease in invesiment spending due tc an wncreasyt the nleres: raiex
A decrease in aulonomous consumphion spending

A decrease in governmenl spending v

An increase i laxation

A decrease in the nominal money supply )(

aAa0ow

1 abcdande
Onlya,c cdarde

@ Only b,cand d
Orlya b candd

5 Onyb,cande

8  Gwventhe lolowing mformaben

o\ 9
Interesl rale on RSA bonds 6% g~
Interesl rale on USA bonds 4%

Whnich one of the following stalements 1s correcl?
4 If Ihe expecled deprecialion of the rand 15 more than 2% financial market parlicipants wilt

@ buy RSA bonds X
i the expected depresiation af Ihe rand s more then 2% financial market paricipants wili
buy USA borgs
) It the axpected deprecration of the rangd 18 3% frmancral market paricipanis will be
maifferent between RSA and USA bands X
4 Il lhe expacied appreciation of the rand 15 3% Tnancal markel parboipants Wil buy USA
bands )c

ECS 2602
Exam Course
Shannon Perry
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Questions 9 and 10 are based on the following d.agram

At

8 Anwncrease in exports will lead ¢ 2 E $ X

3 movemeni along the NX curve
é dowrward sl of the demand curva (22, curve)
shifl of the NX curve la lhe nght
detencration of the {rade balance

10 Gwen goods markel equibrium m the apove diagram, whal would ths ikely mpact of a
" depreciafion of thE domesnc currency os” i =

G/ Tha ZZ. curve will shifl upwards
The ZZ- curve will shifl dowrwards *
3 The domestic level of cutput wil incressa and there will be . nigher Lrade deficit L—\o_t\
@7 The domestic level of culput wil increass and Lhere will be o lgwer trade deficitg— & S
e The domestic level of culput will decrease and Lhare will be a lrade balance “y —————
1 a.pcandd
2 Only band c
3 Onlya, candd
@ Orlyaandd
5 Orlya

Question 11 15 based on the following diagram
NX

N \JlUtS

LY ,,
a\

X

ECS 2602
Ekam Course -

Shannon Perry ‘#
2014



11 Atany income level lower than RE0 millon a irade surplus occurs because

1 Y] = M — NX|
2 Y] e IM] — NX|
3 Y[ —X]—~NXJ
4 Y] Xt o+ NXj;

@ ¥l — M} — NXt

12 According Lo ihe interesi-panty condilion

1 a lower domeslc interast rate leads 1o a deprecialion of the nominal axchange rale and &
@ detenoration of lhe trade balance X
3
4

a delenaration of the irade balance

an appreciabon of the nomunal excharge rate lesds lo a tigher milerest rate ard a
delenaration of the irade balance

a deprecialion of tha nommnal exchange rale leacs to a lgwer interast rale angd an
improvement of the Irade balance

a higher domeslic interest rale \eadit/oan approecialan of the neminal exchange rale and

Quastion 1315 based on iha fg lowing ciagram

¥
\Q/"’c ‘
\\ YPU\;V

: =
\1‘\% wé/

i — O /lr o

13 Which one of the following factors wiil cause a rightward shift of Ihe wage-seting curve?

1 An ncrease 1n lhe bargaiming posiion of workers resuling from a decreass in the
unemployment rake ¥
@ Anincreasa in the bargaining posiion of workers due to labour legisiation
3 Anincrease in the mark-up by lims
4

An increasa in the level of culput and incame \\9\0
14 The denvaton of the AD curve can be presented by the following chain of events \' )

P* = (MP} — 07 = )L +Z) Y]
Gl +Z7 -+ YT~ MY —*
4 Tr—=Z,— YL My .y

@ ML (MP) v 2 12 oY

ECS 2602
Exam Course
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JS_ Which: of the following statements are correct?

a The |§ curye gives a pclure of what happens in tha goods market when Lhe inlerasl rale
changes

b The LM curve gwes a mct.:ge/pf whal happens in the nancial merkel when he lave! of
outpul and income changes

c The AD curve gwves a picture ‘uf/vha: happans i tha goods market and hnancial market
when the prica level changes

d The AS relation captures tne affecls of cutpul and come on he price lavel and s denved
from lhe wage-setling relaton and price-selung relabion in lhe 1abour markel

@ a b candd
Cnlyb, cand d
3 Onlya candd
4 Onlya barde
5 Onty a and b
Queslion 16 i based on lhe following AS curve

e
Py

Pal-

g

16 A movement from poinl ¢ ta pomt b indicales that the
sl L sV BT U DU

a nominal wage 13 unchanged *
real wage increasas X
unemployment rate decreases

@ expected price levelis Wr "

dciual pree is higher

Onlyband ¢

a bcande
Onlyb cande
bardd
Onycanda

@y o

Ocl 2013 Multiple choice solufions

Q-4 Q5=-2 Q11-5

Q2-3 Q7 -3 @12-2

Q3-3 Q8-2 &13-2

Q4d-4 Q-3 @i4-2

Q5-1 Q10 -4 Qls5-1
Q16-6
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Exam Solutions Oct 2012

Section A
SN

2,

\
\
3. Use the goods market model to explain rhe_impacl of an Increase in %O\L

Give lwo examples of stabilisation policies thal can be used in an

economic recession o increase the level of output and income (2)
Expansionary monetary policy and expansionary fiscal policy

Distinguish befween induced consumption and aulonomous
consumplion (2) T

Autonomous consumption - consumption spending by households that
is independent of income

Induced consumplion - consumplion spending by households that is
caused by or dependent upon income. There is a positive relationship

between induced consumpiicon and the level of income.

govemment spending of @ 100 and an increase in taxafion of 100 on

the equilibrium level of income. Show yeur calculafions. (2)

ECS 2602

z

2Zs

,
s
+;
-’
rd
s
/
/Zf

| v

In the original equilibrium, we have the following: ¢ =0.8, c0 =200, G =
0, 7 =0 and Y0 = 1000 (equilibrium ouiput and income)
Hence the demond for goods functionZ = (€0 +1+ G -cD+ cYis
Zo = 200 + 0.8(1000) = 1000
After including the increase in taxes and government expendifure.
Z1 =200+ 100 -0.8{100) +0.8(1100) = 1100

While an increase in governrment spending initially increases output
ond income by 100 an increase in taxes of 100 does not initially

Exam Course

Shannon
2014

Perry

g

decrease output ond income by 100 but incirectly (through the
consumption function) by ¢ x 100.

The following example illustrafes this expansionary effect,

Assume that ¢ = 0.8 and that G increases by 100 and Tincreases by
100.

The value of the multiplier is 5.

An increase of 100 in government spending increases Y by 100x 5=
500

An increase of 100 in axes decreoses Y by 0.8(100) x 5 = 400
The net effect is an increase of 100 in output and income.

Diagram A: Conlraclonary fiscal Diagram B:Expansionary Monetary
1

L T

In both cases the interest rate is lower. Explain the reason for Ihls
decline. (2)

.Also explain the impact of these policies on investment spend_ing (3)

Contracticnary fiscal policy 1s aimed at “cooling down” the economy.

The decline in the level of output reduces the demand for money
because there is a lower level of transactions. The decrease in the
demand for money leads to a decline in the inierest rate in the
financiclt market. The decline in the inierast rate Increases investment
spending because investment spending is a negaiive function of the
interest rate

Expansionary monetary policy is onincrease in the nominal money
supply in craer 1o shtmulate economic activily by increasing the
demand for goods. The increase in the nominal money supply, which

increcses ine recl money supply, causes the interest rate 1o decline.

ECS 2602

The decreose in the inferest rate increases investment spending, the
demand for goods and the level of cutput anc incoms.
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\ 1
5. Explain the impact of a depreclation of the exchange rate on the level
of 651@_cmd income and the frade | balance. @& - c. A supply shock (2)
Given that the Marshall-Lerner condition holds, a depreciation resulfs in Similar fo GniiECTBCJSE in the mark-up)
animprovement in the frode balance and the level of output and i

income. The level of ouiput and Income increases since the demand
for domestic goads increcses in the economy. The increase in the
dermand for domestic goods Is the result of arise in exports, which
Increases the dermand for goods and the level of ouiput.

6. Use the labour market diagrams to show graphically the impact of the
following:

a. Increase In the level of outpul and income (2)

5

7. Given the lollowing AD curve, explain what happens to the lollowing
\ variables during a downward movement from pointa lo b.....(5)
! ws

'
'
1
1
]
]
]
1
i
]
]
1
]
1
i

¥t—= Nt — ul— Wr
As g result there is an upward movement along the WS curve and the
bargained wage will be higher thaon the implied wage.

b. Decrease in the mark-up by firms (2)

No ¥

0 Y

f:(l YW

\99. é% = a. Nominal money supply
\e b. Real money supply
\ c. Interest rate
\ d. Investment
‘: T e. Level of outpul and income
} Fa
:
1 A movement aloeng the AD curve is caused by a change n ihe puce
E level.
i: - As warkers revise their price expectations downwards, they decrease
. : 0 their nominal wage dermands. Firms react to this decrease in the
nominal wages by decreasing the prices of goods and services. This
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decrease in the price level, however, affecis the financial marked,
where a decreass in the price level increases the real money supply,
which in furn causes a decrease n the_interest rale and anincrease in
investment spanding, which increases the demand for goods and the
level of output increases. Nominal money supply is unchanged since
ihe reserve bank has made no change to it

Seclion B: Choice questions

1. In 2009 pollcy makers in SA used fiscal and monetary policies to deal
with the Impact of the great recession on the SA aconomy. Use the IS-

LM model to explain {15): . e o
~&" Impact of recession on SA economy

Despite the fact that the crisis iook place in the financial sector, the

resuli was a negative effect on the level of consumer and investor

confidence. Both these factors are autonomous factors that affect

the level of aggregate demand. The result is that thisled to a

decrease in aggregate demand and a leftward shift of the IS curve.

The decrease in aggregate demand would lead to the following:

Zl— Y[ Y= Md|; Md| —i]. The decrease ininterest raie widl serve
as a shimulus to investment spending and as a result the effect onYis

constrained.

Interest rate (i)
1Sz 1St

b. How fiscal and monetary policies were used lo deal with this
impact

Monetary policy is the action faken by the monetory authorilies of

a country fo influence the econcmy through specific money
market actiens. In this case expansionary monetary policy would
be applicable. The central bank would increase the nominal
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Expansionary monetary and fiscal policies

money supply which would result in a rightward shift of the LM
curve, The increase in money supply wou.a have the foliowing

impact on the economy:
MT— M/PT— il: il—= 11— Z1— YT: YT IT: ¥1— C1

We also used expansionary fiscal policy where government spending was
increcsed ond taxes reduced

LM1

1S1

¢. How countries can moke use of fiscal and monetary policies to

~ 7 7"decreasé e budgel deficil and incredse the ievel of oufput.

ﬂ . I i
Decrease in autonomous spendmg (m::: n m:e‘:n:::: l:ollcyj

{contractionary fscal policy)
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2. Use the I5-LM model for an open economy to explaln the possible
impact of a contractionary monetary policy and an expansionary

gb\)@

fiscal policy on the (15):

a. Level of oulput and income
Interest rate
Financial account of BoP
Exchange rate
Trade balance

oa0gT

Expansionary Fiscal policy

GT = ET: apprecistion

LT 3o

&
L

%

Contractionary monetary pollcy

M{ > ET : spprecistion

y LM,
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x-rhbhf m :xtf :‘g:: of en expanelonary fiscal
Laved of outpasd snd
P » | T
Interesl reia/
T T (yoW Cl ¥ 'g
ouv

bl % Pt
::ans:ele rekem'n.g van \]J 0\]‘)

== S e
ol .

L] !

Trachs Dalarwe’
Handelsbalans

o S0

| G5 | ¢

3. Use the AD-AS model lo explain the short run to the medlum and long

run impact of an expansionary fiscal policy on the goods market, the
financial market and labour market. (15)

Short run:

G1TZITYt

Y1 Mat it

itl]
but Y1 1T so Al is uncertain
Rightward shift of AD: ato b .
) T LCliLinA

Labour market: YT Nt ul W1
Q T i

Upward movement along AS: b to ¢

Medium nr: PTM/PLITILZL Y]

Leftward shift of AS
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Impact of an expansionary fiscal policy

P

AS

Seclion C: MCQ
1 E on groay
1 15 ihg some as Gross domestic expendrturey'
1% tha same as cometbe demand for goods 7‘
inchydes spandng on axpods and axclute spandng on imports

moluday sperding an smporks and axciudes $pendng on exporta

Chupsbon 2 t5 bawed on the followsey wiarmmsbon

2 Whchane of the killowng ciatam - c?

1 The taxigel surpius m 30, the brede surplus S0 wid the balence on the Ariencsl acooam
u-40
@ The budgel defict s 30, the tracls delicl w 50 srxd the: baisnoe on the inanosl sccound

40
3 Tiw budgel deflal m 5, e irace dafick m 30 s the o the & i Y]
40
4  Tha bexigel ostat = 40, the trade defice u 50 and the bel on tha | ]
n
§  Tha buxiget defiot o 30, the tradet deficl m 50 snd thi belarvs on the & t o
x
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3 Winch of the folowang will roreasa the level of output and incoma N the gaods merke?
P S

s —

&  Anmorissn n toceteon
b Adeaesss m the mageml propersity lo save Z 1
c  An n V’ 4

4 barge 2z

1
& o
Cotybanc o
4
4

4 Inthw pooxde markat mode! an increase in sxpendiure impaes an increase n outpul, soome and
wnploymend Thi imphcation af tes 15 that an increase n expenditure can be ured to achiave il
wenploymarnd Wieeh of #m Tollowing &M constriints b prevant s ecomomy from reaching ful
employment Brough expenditure pohae? 50\1‘

Jebless Qrowlh o /
Budget congtranis o0 g nt $pending

A low propenuty ta impoct

An ncrease = ihe inflaton rats ‘/

a.b.candd

Only b, ¢ ed d
Only ¢ and d \Ir ms
5 On the finencsl mavkel tha impact of en norease o the leval of outpul MY Moome and 8
cocréase in the supply of money Is thal the miorss! rate
s unchengnd
criines
dareu—e.
4. s rdatenmneis

H-@“-ﬂ atcoe
5
i

&  Which nf the faliowng can be regarded B3 endagencus vanabiss m the 15-LM model?

Mommalmaney supply |-
Loval of outpul wnd Mcorme
Coneumpton tpandrg

n&k@,—n apas

IJc

7. Winch ona of tha fallowsng factors ofl caurse o iaftued shit of the 18 arve?

An nr pending duto a d m the inlerest rate
An inaremme in congumphdn apanding due Lo an Increass In the level of outpul and ncome

1
i
An mcraass m mvestment spending due 1o an ncreass tn tha level of output end income
A dacrease In government spending "
An moreass i goveirnen spandng
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162

Cumstewn € w brsend an the foflowng degram of an LM ausve
P

.

[ g

Iy ¥
8 A dowmerd movemend from pord b o pond 3 sopleg il

1. goveinment spandoyg inthe eonomy decreasss causing the mtarost rate to decraase )f
2  adecrease m the tevel of output and Itomie increases the money Supply and (he rierest
rate dacreaser X
@ a decrease N the intereet rate mosases Investment spending n iha ecanomy
5

i dacroass i tha level of oaulpul snd income decreases the demand Jor monay and e
wniarmat rate decroasas.

e rormy supply i tho sconoery decressss causng e Jevel of oulpul and Incame to
decrease

2 Companng the smpact 1 the IS-LM model for & clased y of an exy '
palicy with an sxpansionasy fiscal pokcy on lnvestmont epending tha resull 15 that

3 It bath casos nvestment spending defindety increase

Y monatary

In the ama of fioel pobicy mivesimant spending t ndetemnats end 0 the cese of é_

monetary policy Investmant spendang ls higher
3 Inboth cates nyestment spendmg is indetenminals
4 Inbpth cazos nvesimen Bpamdizig 15 dafinimely icwss
5 inthe cemn of fiscel pobey Investimant spending o m gher nd in the ceee of monatery
pokcy Invastment spend:ing o lower

10 From i perspactve of Bouth Afnca. a 1 of the ml
incraass 1n the domestic poce bavel relzive o foregn price els .

$

reis and =n

will defexinly moresss the mal axcharga rets
wall dadirvinly decrasse the real exchanps e
o ft necatanly wullioat o brng bt 5 decrates m e el echonps rate
m not neceasarily sulliciant o bring sboud en mcressa N the el exchengs rde

€ -—lcpé
g

P
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- IS

T 4.7/“ v 1]

Quasteon 11 w tawed on tha folowng degram

. | T

N

1 Wiw would iweopen to the el of wnd S tede beleres ¥ oxpoits decrease?

The leval of cutpad well decreess wnd B trads deficll wil noreess

Thm level of tutpul wil decresss and the rade surpius wil docmese

Tha kevel of ocutpusl wall b unchengind sowd the trede defict will increses r\/l
Tha leval of culpusl well ncrowes wwd the trxia defled wall wormme

Boih e evel of outpul ared irade: belance wil be unchangad

»au @

(M

12 Companng the impaci of a coctractionary monetary poficy with sn expanaicnary fiscsl potcy n
ha 1S-LM maodal kyr an opSA SCaneToy oI e TXCITITReTele and badu daficrt the rosults aro that

mmmmmmmma{mamhhﬁdﬂﬁmﬁm*
wisle tw irade defiol for Becel pobey
y policy A

for fiatal polcy the nxchange rule dapraciats and the trade deficd incresees whis for
monetary pokoy the exchange rate appreciate and the trede deficil decreases

for fiscal podcy the exchange rale appreciate ond the rede defic) decreasas whisn kv
monstary polxy the exchange rate depreciete and tha trade doficd incrpases

= both cases e exchangs rte sppreciates. and e ek deficll Fcasees

£

Quarstoon 13 18 vl on the kaliowng AS aove

»

>
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13 A movement from pownl & (o ponl ¢ ndesies thal e

a romnal wags o unchergmd x
b el wage decressss * X
3 R

[
1 Oniys
2  Onyb
3 Onlyc
Onlybamd ¢
@ Wola borc

14 Comparing the mad:ium to loop reh mpadd | e ASAD model of = Expermonery snanstary
policy with that of an expansonary fiscal poticy on mvestment sporiing Be results e

For Becsl polcy weasime— spmmieng m iowe’ wrd for Yy policy
13 highar

In bath cases spending (+ uachang .
In both cagon investment cpending 15 higher 2
I both caans invesiment spendog i 18 lowet \
For frsco! pohcy mvasimend spend.ng b iowst snd for monatary pobcy swostmrn spmndng

» vnchanged

npu@-

wm-h-dunnnmmmmumud.mu
—

—t

-

15 Wihuoh ane of the fallowsng stelermerds i/sre cormect?

1. & e shal nm $w nomass In the et retm N the fnancig morket wil laad 1o &
decesss I Fvefoa o the ksl @ decresns o tha demand for geods snd a
docreasa . tha lavel of culput end income  This 1 represantsd by & steft from AD to AD,

2 The movement along the AD curve Fied poml b o posn o @ tha el of the evanis o the
labaur market n the short run

@ In tha medium 1L, tha AB cirve wd shill iom AS Al bacetss of the followlng chen of
eventy' P4 — W] —~ P}

4 M pont c the levsl of oulput = o the rahural lsvel of cutpt o o the resl veltse s
equal to ther ongmal values

18 Wiach of the ialio - ?

An increass i the prca of of (a supgly shock) el . /f al%

shill the P3 turve ppwards %
Iaad i A lower raal wage
laag to hegher ratural re of unemploymant v

" /LLT'?

| T ¥
Mﬂi‘

PS

shfl the AS eurve 1o the nght X
icad to m lowar natural kvel of outpul ¥

abowxle
b,cdand e

aand 4
b,dand e
bconds

WN- GafTe
@
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Seclion A; _Hﬂ_______r-—un__ = ﬁ
Quaestion 1

Explaln the difference betwsen autonomous and Induced consumplion. (2)

(0}

Autonomaus consumption - consumption spending By households ihat
is independent of income.v”

Induced consumption - consumption spending by households that is
caused by or dependent upon income. There is a positive relationship
between induced consumplion ond the level of Income

Queslion 2

Disting

uish between a budget deficit and financlal account deficit of the

balance of payments. (3}

(&)

BUdget deficit (his refers to the difference between government
spending (G) and government revenue, ndmaly 1axes (1. A deficit

mplies that G exceeds 1.

A Financial occount deficit refers to the balance on the financial
account in the balonce of payments  This means That tnoncial
outflows exceed tinancial Inllows.

Queslion 3
Explain and lllusirate using lwo digrams the impact of an expansionary fiscal

policy
a

ECS 2602

in he:
oods market

Expansionary fiscal policy can take ihe form of an increase In
government spending and/or o decrease in tax rate. Either way it
will lead to onincrease in aggregate demand. Inihe goods
market model this will be indicated by an upward shift of ihe
aggregate demand {ZZ) line and consequently an Incregse in the
equilibrium level of incoma.

15-LM

in the [5-LM model the increcse in aggregate demand caused by
the expansionary fiscal policy s ilusiroted by a rightward shift of the
IS curve

The following occurs: 21— Y1, In the financial markei this leads to

¥1— Mdt and therefore it. This is ilustrated by a movement along
the LM curve.
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Draw the two diagrams in the space provided and compare the rasults.

{a) Goods market model {0} 15-LM Model
Z I=Y i
7 1
o z
4 A ‘: 1l
s i
rd H )
i [—— i
. : 2
4 1 0
Yo Y1

In both cases the level of output (Y) will increase. In the case of the
goods market model | is autonomous so is not affected by the change
in government spending or taxes.  In the case of the 1S-LM model, 1is
endogenous and is influenced by both the interest rate and the level
of income. The increase in the interest rate will cause | to decrease

Interest rate (i)
50

Y1 Yo

(b} In response lo the worldwlde econemic crisi: many countries used
monelary policies in an attempt to soften the Impact on the level of
output and income. Use the IS-LM model o explain how monetary
policy can be used to soften the impact of the crisis. (4)

Monetary policy is the action Taken by the monefary authorities of

while the increase in Y will lead to anincrease in [, The end result is . country lo influence the economy Ihrough specific money market
indeterminate. -HD ',C.ﬂ actions. In this cose expansionory monetary policy would be
C

applicable. The central bank would increase the nominal monay
Question 4 ) ) OV«YO supply which would result in a rightward shift of the LM curve. The
Read 1h_e following paragraph and answer the guesiions. s ( Tcrec?se_in?rﬁney supply would have the following impact on ihe
The infernational crisis of 2007 impacted negatively on consumer and economy:
investors’ confidence '

Mt— M/PT— i[; i]—IT— — ¥ =11 N
(a) Use the I5-LM model to show and explain the impaci of the crisis on the f /PT— i il= M1 Z1— Y Y= Yo ©F
level of output and Income
Despite 1he 1act hat The cilsis took place in the financial sector, the

result was a negative effect on the level of consumer and investor

confidence Both these factors are autonomous factors that affect l \ / J

ihe level of aggregate demand. The result is that this led to a Z LM LM1
decrease in aggregate demond and @ leftward shift of the IS curve. ¢

The decrease in aggregate demand would lead o the following: \I J ‘Y\d

ZI—- Y] Y= Md|: Md| —il. The decrease in interest rate will serve

asa stimulus 1o investment spending and as a result the effect on Y is \ & /L
constrained. NU
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Question 5

income (Y). Thisincrease in Y in turn leads to an increase in
Use the following diagram to explain whqt rlgppens to the following variables consumptlon spending by households and therefore a further increase

if the unemployment rale decreasas. (7) in aggregate demand. This is the mulfiplier effect,

# The end result is ihat the effect of an equalir -ease in G and T will still
leadtoanincreasein Y.

Draw a graph showing Keynesian model; show upward shift of ZZ line
and an increase in the equilibrium level of income.

Goods market model
P

\ z Z=v
: e .

; /ZZ
o : v [ 0

Turgeled real wages: AR
& unemployment rate decreases fhen the bargaining power of workers ¢ ! :

incregses. Workers then bargain for a higher nominal wage in order 1o try
and increase their real wage {targeted redl wage)

Nominal wage:

The nominal wage (W) increases becouse of the increase in bargaining (b) sl tour consiraints on using fiscal policy to increase the demand for
power.

goods in SA, (4)

"% Shuctural unemployment requires a different remedy v
Jobless growih (capital-intensive production)
Wage increases might lead to inflafion «”

Budget deficit constraint as well as crowding out effect v

) ] Balance of paymenis mighi act as a constraint (with high import
Section B: Cholce questions propensity) -

Implied real wage {feasible wage)

The implied real wage will remain the same. The increase in (W) will result in
on increase in prices and the real wage (W/P) will siay the same. This is
determined through the price seiting function.

0 0 o000

Question 1
(a) Use the goods market model lo show and explain why the net effect ot (c)  Indicate cleary on the following diagram the excess supply and
an equal increass in govemment spending and taxes will siill have a excess demand position, Give the chain of events in reaching equllibAum in
stimulatory effect on the level of cutpul and income. (8) the case of excess demand. (3)
The inhal effect of an mcrease i 1axes 5 on he disposable mcome of Goods market model $G pg 43
households, while the change in government spending is direcily on
aggregate demand. z

v

Q - excess supply
b - excess demand

An increase in the level of taxation causes disposable income 1o
decrease by an amount equal to the increose in taxes. however, the
decrease in consumpiion spending is limited by the marginal

propensity fo consume effect (cT), that is, the decregsse in v

consumption spending is less than 1.

The Incregse in government spending (G) increases aggregate Y

demand and therefore leads to an increase in the level of output and
ECS 2602 x ECS 2602 .
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Chain of events. I>Y¥Y1C1Z1

Queslion 2

(@) List Ihe thres properties of the AS curve, (3}

« A8 hos a positive slopeg v
« The expected price level is the same along a given AS curve.
+ The real wage is the same along any given AS curve - i\

(c) Use the AS-AD model to illustrate and explain the impact of an
expansionary moneiary policy in the medium fo leng run. (12)

Refer to pages 171 to 175 for explanation and graph.

AD-AS Model - Monetary Expansion Explanation

Mt =2 M/P1 =y
iI=I11=Z1 =Y

¥t = Ni = ul =Wt
=Pt
Pet=Wi=Pr

Pt =M/P.=if=1]
=2Zl=Y]

Question 3

(a) Using the following dlagram, indicate whal happens to the level of
oufput and income and the frade balance if:

®

Exporls increase
Then Net exports (NX) will increase and the NX curve will shift to

the right: In addition, the increase exporis leads to an increase in
aggregate demand (Z) and the ZZ line will shift upward.  This leads to
an increase in Y and animprovemnent in the frade balance,

(i)

ECS 2502
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Govemment spending Increases

If govermment spending increases the ZZ line will shift upwards
{aggregate demand increases) and the equilibrium level of
income increases. The increase in Y leads to an increase in
imports (M) and the frade balance will worsen (NX decreases).

i)

Compare the above resulls regarding fhe level ol output and
trade balance _ e
I the case of (i) the level of oulput increases and ihe frade
balance improves, while for i} the level of cutput alse increqses
but the Irade balance worsens,

Exports Incregse Govemment Spending increases

z

e

V'’
I’ !
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{b) Draw a diagram of the I1S-LM model for an n aconomy o indicate
what will happen to the_nomingl exchange rate if a contractionary
monelary policy is applied. Explain the impact on the trade balance.
%)

Refer o page 136 and 137 (202: page 238/9) in the study guide.

15-LM - Monetary Contraction

Y1 Y E EIl

(c)  Use a chain ol events to indicate the impact of o depreciation of the E & 7( r N * f
nominal exchange rate on the demand for geods and the level of output and
income in the goods market for an open economy. (2) v~

E|—XT— NXt Also NXT—Z7- Y1
nvf oz f oy

SECTION C;: MC& May/June 2011

L N Vi N
1. 1 [} 2 1. 2 16. 2
2. 5 7. 2 12. 2 17. 4
3. 2 8 3 13. 4 18. 1
4, 1 9. 5 14. 4 19, 2
5 3 10. 1 15. 3 20. 4 -
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